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For soome credits unnder the Commmunity Ratinng System of tthe National FFlood Insurannce Program,, a 
commuunity must calculate the arrea of its jurissdiction that iis affected by certain regullations or othher 
activitiies. This handdout explains how to use a simple grid ooverlay to callculate the apppropriate areea. 

Addditional copiees of this handdout are availlable from yo our ISO/CRS SSpecialist or bby e-mailing 
NFIPCCRS@ISO.comm. 

Using tthe Grid OOverlay to Figure Areas 

The grid overlay is a simple methhod to calculate areas onn a map. It iss not as accuurate as usingg a 
planimet er or geograaphic informaation systemm, but it prodduces results  accurate ennough for 
Communnity Rating SSystem impaact adjustmennts. 

At the ennd of these innstructions iss a template for two gridd squares: 

 GGrid Square ##1 has three squares to thhe inch. Thiss is used forr measuring llarger areas. 

 GGrid Square ##2 has six sqquares to the inch and prroduces moree accurate mmeasurement ts for 
smmaller areas. 

Print the two grid squuares on an ooverlay or cllear acetate. Note that thhere may be some distorttion 
of the dimmensions, deepending on the printer, but the resulting measurrements willl be accuratee 
enough for CRS imp act adjustmeent calculatioons. 

In this exxample, the ccommunity hhas a park onn 
Wildhorsse Creek. Thhe park bounndaries are frrom 
Darwin SStreet to the corporate limmits betweenn 
1st and 55th Streets. TThe CRS Cooordinator waants 
to know hhow much oof the park iss in Zone A. 

Step 1. HHighlight thhe area to bee measured.. 
Mark thee outline of thhe area so thhat it will be easy to see the boundarries through the overlay. 
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Step 2. SSelect the ovverlay to usee. For larger areas, Grid Square # 1 wwill take less time becauuse 
there are fewer squarres to count. However, thhe smaller sqquares (Gridd Square #2) should be uused 
to calculaate smaller aareas. These instructionss use #2 becaause the exammple area is small. 

Step 3. LLay the overrlay over the area to bee measured aand count thee number of crosses. 

Count evvery other crooss that is onn the boundaary. In the bllow up beloww, the crossees to be counnted 
are circleed. Cross” AA” is on the bboundary. It is counted bbut the next ccross on the boundary, CCross 
“B” is noot. In the aboove illustratioon, there aree 111 crossess. 

Step 4. LLay the overrlay over the area at a ddifferent anngle and couunt the numbber of crossess. 

In the example beloww, there are 1113 crosses iin the area. IIf the numbeer is not closse to the prevvious 
count, reppeat step 4 aat a third anggle. 
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Step 5. AAverage the count of crrosses. In thiis case 111 ++ 113 divided by 2 is 1122. 

Step 6. DDetermine thhe scale of tthe map. In this case, th he map scale is 1” = 400’’ 

Step 7. FFind the connversion facctor. At the bbottom of thee grid squarees are the coonversion facctors 
for the mmore commonn map scaless. For Grid SSquare #2, 1”” = 400” andd the converrsion factor iis 
.103 acrees per squaree and .000166 square milees per squaree. If you are using a mapp with a scalee not 
listed on the grid squuares, see thee instructionss below. 

Step 8. MMultiply thee average coount of crossses times thhe conversioon factor. Thhe result is thhe 
size of thhe area meas ured. For thee example illlustrated, thhe area of Wiildhorse Creeek Park in ZZone 
A is 112 x .103 = 11..54 acres. 

Instruuctions for SStep 7 if you are using a map with a sscale not listted on the grrid squares: Grid 
Squarre #2 has sixx squares to tthe inch. Divvide the nummber of feet pper inch on tthe map scalle by 
six annd square thee result. Exaample:  1” = 600’ 600//6 = 100. 10002 = 10,0000. One grid 
squarre is 10,000 square feet. 

Theree are 43,560 square feet to an acre. DDivide the siize of the griid square by 43,560 to 
determmine the nummber of acrees per grid sqquare. Exammple: 10,0000/43,560 = 0.23. One grid 
squarre is 0.23 acrres. 

In thiis example, tthe conversioon factor forr 1” = 600’ iis 023 acres//square. If yoou are using Grid 
Squarre #1, use thhe same apprroach but divvide the mapp scale by 3 iinstead of 6.. If you are 
workking in square miles insteead of acres, divide the ssize of the grrid square byy 27,818,4000 
insteaad of 43,5600. 
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Grid Square #1 

0 1” 2” 3” 4” 5” 6” 7” 


Map scale 1” = 200’ 1” = 400’ 1” = 500’ 1” = 800’ 1” = 1,000’ 1” = 2,000’ 
Acres/square 0.1 0.41 0.64 1.63 2.55 10.2 
Square miles/square 0.00016 0.00064 0.001 0.0025 0.004 0.016 

Using the Grid Overlay – 4 – March 22, 2012 



    

                     
                     
                     
                     
                     
                     
                     
                     
                     
                     
                     
                     
                     
                     
                     
                     
                     
                     
                     
                     
                     
                     
                     
                     
                     
                     
                     
                     
                     
                     
                     
                     
                     
                     
                     
                     
                     
                     
                     
                     
                     
                     
                     
                     
                     
                     
                     
                     

 

                                                                                                                    

Grid Square #2 

0 1” 2” 3” 4” 5” 6” 7” 

Map scale 1” = 200’ 
Acres/square 0.260 
Square miles/square 0.00004 

1” = 400’ 1” = 500’ 
0.103 0.160 

0.00016 0.00025 

1” = 800’ 
0.408 

0.00063 

1” = 1,000’ 1” = 2,000’ 
0.638 2.550 
0.001 0.00399 
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